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Worksheet 8.2 — Solubility Rules Name e
Class Period

Complete the following equations. Note that precipitates are insoluble and are followed by (s). Species in
solution are followed by (aq). Note the list of insoluble salts. These are precipitates. Note the list of
polyatomic ions. These atoms always stay together as a unit.

Precipitation Reactions:

Which of the following substances would you expect to be insoluble in water?

Barium hydroxide Hydrochloric acid
Lithium sulfate Ammonium nitrate
Silver chloride Lithium carbonate
Calcium carbonate Barium sulfate
Ammonium acetate Lead acetate
Strontium hydroxide Ammonium nitrate
Silver nitrate Cadmium acetate

Solutions of lead () nitrate and potassium iodide are mixed.

a. Does a precipitation reaction occur? Yes

b. Write balanced molecular, tetalHenie-and-netionic-equations.
Polngy, + 2T —+ PbT, + 2¥Nos

Ba(NO3); (aq) + K»SO4 (aq) > 2. KNG, (5t Ba 904 )
AgNO; (aq) + NaBr (aq) > AgBi, + NaNGs taq)
FeCl; (aq) + 3 KOH (aq) > Feloym + 31¢CL.
Pb(NO»); (aq) + K;S04 (ag) > Posey,  + ZKN Ce,

Cu(NO3); (aq) + 2 NaOH > CuloH) + 2 th\l% .



